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Employee’s flat sum bonus was properly
treated, when calculating employee's
“regular rate of pay” for overtime
purposes, by dividing the amount of the
bonus by the total number of non-
overtime hours worked during the pay
period. ~ -




CALCULATING OVERTIME PAY

FACTS:

A full-time employee, working 8:00
a.m. to 5:00 p.m. Monday through
Friday, is paid $17.00 an hour
normal hourly wage rate. In
addition, for any Saturday or
Sunday on which the employee
works an hours, she receives a flat
rate bonus of $60.00 for that day.




QUESTION?

If in a given bi-weekly pay
period, the employee worked 80
regular hours, and five overtime
hours on a Saturday, what is the
overtime rate for those five

hours?




WRONG WAY

Step One: Multiply overtime hours by normal hourly wage rate
to get base overtime pay. $17 x 5 hours = $85.

Step Two: Add the total hourly pay for non-overtime work, th
non-hourly compensation (e.g. the bonus), and the base pay fo
the overtime. ($17 x 80 hours = $1,360 non-overtime) + $4
bonus + $85 base overtime pay = $1,485. Then divide thi
amount by the total hours worked, including overtime, to get t
regular rate of pay for purposes of calculating overtime rat
$1,485 / 85 total hours = $17.47.

Step Three: Multiple regular pay rate by overtime hours a
then divide in half to get the overtime premium. ($17.47
hours = $87.35) / 2 = $43.68.

Step Four: Add the base hourly pay for overtime work to
overtime premium to get total overtime compensation.
based overtime pay + $43.68 overtime premium = $12
overtime pay.



RIGHT WAY

» Step One: Multiply employee’s normal hourly wage
rate by 1.5 to get overtime rate. ($17 x 1.5 = $25.50
overtime rate) x 5 hours = $127.50 overtime.

» Step Two: Calculate bonus’ per-hour value based on
number of non-overtime hours worked and then
multiply it by 1.5, and then multiply that number by the
number of overtime hours worked. (($40 / 80 hours =
$.50) x 1.5 = $.75) x 5 hours = $3.75

» Step Three: Combine for total overtime compensation.
$127.50 + $3.75 = $131.25.

» The correct formula results in a slightly higher
overtime pay for the employee.




SEEYOU IN







DE MINIMUS EXCEPTION

FACTS:

Technician who installed and repaired vehicle
recovery systems was paid for time from arrival
at first job location to completion of final
installation of the day, but not for approximately
two minutes of time spent every morning doing
paperwork. Employee files suit seeking
compensation for these preliminary activities
performed before paid time begins.

There is no de minimus exception under California Law.
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Employers must comply with both the CCRAA and
ICRAA for background checks Ilooking into
employee credit worthiness and character.

SIGNIFICANCE: EMPLOYERS ARE NOW
MORE LIKELY TO BE REQUIRED TO OBTAIN
WRITTEN AUTHORIZATION FOR BACKGROUND
CHECKS.
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SALARY HISTORY?
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